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Plot Sensor and FgRec Data
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10:10 300 150.0 | =| {Ri&e10:10 Bz (KRBEEE)
11:00 300 150.0 (2 =| 1BRi%e11:00 Bz (kAFERSE)
11:50 300 150.0 [Z=| fRi%e11:50 Bz (GGREA{EREEE)
12:40 300 150.0 | =| {Ri&e12:40 Bz (KRBEEE)
13:30 300 150.0 |Z=| 1Ri&e13:30 Bzl (GREAEESE)
14:20 300 150.0 (=] Ri%e14:20 Bz (kBFERSE)
15:10 300 150.0 |Z=| 1Ri&e15:10 Bzl (GREB{EEE)
21t 3000.0 (10)%) 1500. 0 3233 KEC: 2080.0, PH: 5.6

MEREHERE STMAEARS (195.0 : 144.0), AREHTF—RE XAH4
ZRIASERRIERE144.0 ml.

REXEEBIEC (2660.0) 5% FEEC (2000.0) RER KA, FHE

[Bl/&EC 5455.0 K&, EiXF{KECAE&ipikER

B RECE (2660. 0 vs 5455.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=46 (2025-05-16)

T e g g g S B B

VI, VOUBRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1950 | »o00

100 11400 307 1400 440
141

- 1000
50

192 Warning: lcol [FVI',| "FVO’'] missing 194

i
¢ v — ME fgg

100 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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- 2000

La - 1000
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1 - 2000
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200 -

- 1000
100 A
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1 T 2 T 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
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]
ByWoFv @D48 03139: ET=1141 Fg=1500.0 Ro=351.0

- 2000
200 -

- 1000
100 A

16 [ 17 18192 [21T22723
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1.0 4 5 6 7 8 9 10 1 12 13
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o | _obs
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1000

500 A
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ol N
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3 1 e v P

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



36.
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35.

35.
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37.

37.

36.

47.

46.

46.

45.

45.

44,

44,

T T
600 800

m=635,m FV0=0

75 A

50 A

25 -

00 ~

75 -

50 A

25 A

——

635

6&0 6&5
m=845,n FV0=0

——

845

8é0 865
m=465,n FV0=0

——
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37.
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36.
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37.

37.

37.

37.
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45

45
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m=465, FV0=0
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m=690,n FV0=0
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695 700
m=890,n FV0=0
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00 ~
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25 -

——
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m=515,n FV0=0

.9 A

.04
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.01

—o—
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520 525

m=515, FV0=0

36. 00

35.75

35. 50

35. 25 A

35. 00 ~
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m=745,n FV0=0
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36. 5
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m=580,n FV0=0

47.0 A
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m=580, FV0=0
36.5 -
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36. 5 -
36. 0 A
35.5 -
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m=690, FV0=0
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43. 75 A
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43. 00 A
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P3-13

BfiE) | EBIETK (D) | ElE (EH/HK) | XK EFE

07:10 294 150.0 (2 =| 1Ri%e07:10 Bz (GkBERESE)
07:55 294 150.0 (Z=| 1Ri%@07:55 Bzh (REBERESE)
08:45 294 150.0 (2 =| 1Ri%e08:45 Bz (kHBFERSE)
09:30 294 150.0 FE| 1BRi%@09:30 Bz (kBERE)
10:15 294 150.0 el Rige10:15 Bal (REAEESE)
11:00 294 150. 0 S| Ri%@11:00 Bz (REERESE)
11:55 294 150.0 B Rige11:55 Bz (REAERE)
12:45 294 150.0 Bl Rige12:45 Bal (REAEESE)
13:30 294 150.0 | Ri%@13:30 Bz (REAERESE)
14:20 294 150.0 B 1Ri%e14:20 Bz (GGREMEEEE)
15:20 294 150.0 S| Ri%e15:20 B3 (REERESR)
16:20 294 150.0 B 1Rige16:20 Bzh (REAEESE)
249t 3528.0 (12%) 1800. 0 3EHKEC: 2080.0, PH: 5.6

MEREHERE STMAEARS (195.0 : 144.0), AREHTF—RE XAH4
ZRIASERRIERE144.0 ml.

REXEEBIEC (2715.0) 5% FEEC (2000.0) REKR KA, FHE

[Bl7&EC 5265.0 K&, EiXFKECAE&iHikER

HEERECE (2715.0 vs 5265.0) 5



P3-13_0, Day=45 (2025-05-15)

1 e g g e S S B B g g
VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET

100 A

955

710 91

50

70

Warning: lcol [FVI',| "FVO’'] missing

- 2000

- 1000

( o v
200 ~ FRV

100

FRV (ml plant-1)

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0

400 - Bylnit @D48 03:

100 A
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ByWoFv @D48 03:
200 ~

100 A
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40: ET=1308 Fg=1800.0 Ro=459.0
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—

- 2000

- 1000
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[ ] | _obs
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cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



35.

35.

34.

34.

34.

34.

33.

T T
800 1000

m=635,m FV0=0

T
600

25 A

00 -

75 -

50 A

25 -

00 -

75 -

—0— ME

6&0 6&5
m=845,n FV0=0

36.5

36. 0

35.5 -

35. 0 -

845 850 855

48 ~

46 -

44 -

42

40 -

-— MW

i)
i

600 800 1000

m=495, FV0=0

31.5 4

31.0 -

30. 5 A

30. 0 -

29.5 A

35.

35.

35.

35.

34.

34.

37.

36.

36.

36.

36.

35.

35.

M_E

560 565
m=675,n FV0=0

75 1

50

25 -

00 -

75 1

50

GéO 6é5
m=885,n FV0=0

00 -

75 -

50

25 A

00 -

75 1

50 -

860 855
m=495,n FV0=0

885

43 A

42 -

41 -

40 ~

-o— MW

495 500 505

32.

32.

31.

31.

36.

35.

35.

34.

37.

36.

36.

35.

m=555, FV0=0
—e— ME
5 -
0 -
5 -
0 -
555 560 565
m=735,m FV0=0
0ol —&— ME
5 -
O -
5 -
735 740 745
m=940,m FV0=0
ol —e— ME
5 -
0 -
5 -
940 945 950
m=555,m FV0=0
—— MW
44 -
43
42
41
555 560 565

34.

34.

33.

33.

32.

36.

35.

35.

37.

37.

36.

36.

36.

36.

m=590, FV0=0
57 —e— ME
0 .
5 .
0 .
5 .
590 595 600
m=790,m FV0=0
—o— ME
0 .
5 .
0 .
790 795 800
m=995,m FV0=0
25 - —o— MNE
00 -
75 -
50 -
25 -
00 -
995 1000 1005
m=590,m FV0=0
—— MW
46 -
45 -
44 -
43 -

590 595 600




m=635, FV0=0

46

45 -

44

43 A

—o—

M_W

6&0
m=845,n FV0=0

635

T
645

47.0

46.5

46. 0

45.5

45.0

44.5 -

—o—

M_W

845 850

855

m=675, FV0=0
—— MW
47 -
46
45 -
44 -
675 680 685
m=885,m FV0=0
—— MW
47 -
46 -
45 -
885 890 895

47.

46.

46.

45.

45.

44,

48.

47.

47.

46.

46.

45.

45.

m=735, FV0=0

——

M_W

T
735

7&0 7&5
m=940,n FV0=0

—0—

M_W

T
940

T
945 950

m=790, FV0=0

47 -

46 -

45 -

44 -

—0—

M_w

T
790

7é5
m=995,n FV0=0

T
800

48.5 A

48.0

47.5 A

47.0 A

46. 5

—— MW

T
995

T
1000

T
1005




hour

100

10:20 - 80
12:35 e
13:20
14:05
14:45
15:45 .

S -ﬁ Q&% \**“K &y ‘/ %”‘“




P3-13

Bfig) | JEBIATIC (FD) | EBRE (BFH/HR) | XS IR

12:35 294 150.0 FH| 1Ri%@12:35 Bz (kEBERSE)
13:20 294 150.0 | =| 1Ri&e13:20 Bz (RB{EEE)
14:05 294 150.0 |Z=| 1Ri&e@14:05 Bz (RPB{EEE)
14:45 294 150.0 |Z=| 1Rige14:45 Bz CGRPBEEE)
15:45 294 150.0 |Z=| 1Ri&e15:45 Bzl CGRBEESE)
=it 1470.0 (5%) 750.0 3E S KEC: 2080.0, PH: 5.6

TERRHEBR 2 STEEART (191.0 :

ZRIASEPRIERE135.0 ml.

135.0), FAlEEHT—@ % XA HS
LRGERRETC (294) 574 (326. 0) FF, FIREHI T & MREEIRS £ XER

RERSEBIEC (2700.0) Hi&EEC (2000.0) REIK, BHE

ZE[ERECE (2700. 0 vs 4845.0) 45




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=44 (2025-05-14)

150 Fo—————F——————F——————F-—————F——————F——————F——————F——————F——————F——————f——————F—————]
VI, VORV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET L 2000
1500
o 95 L 4000
50 - 01359
- 500
104 Warning: lcol ['FVI',|"FVO'] missing 70
- 06
4
L 34
(NN
- 32 =
- 30
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D48 03140: ET=1053 Fg=1200.0 Ro=144.0 t
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200 ~ : - 1000
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300 1 - 1500
ByEt @D44 19:13: ET=781 Fg=690. 0 Ro=nan :
200 ~ : - 1000
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100 - I - 500
o9 o 9o —0 06— —0— | !
0 P——ap o P Gy I 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
300 FH BH BH |/\Fa| PBH BH |/ |/ || K| K| BA EHRERERARERERASRG i 5 5 5 i 5 1500
: B
ByWoFv @D48 03140: ET=559 Fg=750.0 Ro=140.0
200 ~ : - 1000
: & & 8 o
100 - I - 500
—o—0—o—lo—e—o —eo—0 00 o
1.0 P PY PS 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8 - FH BH BH |/\Fa| PBH BH |/ |/ || K| K| BA EHRERERARERERASRG i 5 5 5 i 5
0.6 -
0.4 1
0.2 A
1808 1 | A

o | _obs
PPFD_obs

RH
RH_obs
RHo _obs

hour

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)
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T
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M_W

795

800 805
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